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Note: Figures to the right indicate maximum marks of the question. Total Marks- 70
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Give the meaning of function. Describe the various types of function with appropriate examples. 09
Rt el 2l Azt QR ysiA Aoe GeleEl et aglal. '
The demand and supply functions for two commodities <X’ and ‘Y’ are as bellow. Government ()8
decides to levy tax of Rs. 5 pet unit selling of commodity — X and to give subsidy of Rs. 5 per
unit selling of commodity — Y. Then find out the clear impact of this policy on market factors
viz. price, quantity, producer, consumer and government.
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Dy =112-3Px + Py

Sx = 15Px — 2Py — 10

Dy = 100 +Px — 2Py

Sy =—3Px + 5Py — 50
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Explain the method to find out inverse matrix with approptiate illustrations. 08
celect AR5 dluctofl et Aoz Getsel W L e '

Solve the following problem using Cramer’s rule. (C= consumption expenditure, S = saving and 09
Y = income)
uzoll Raumell Guaal s8R o[ Al 2l G3cll. (C=au W3], S=olAcd ol Y=Lels)
Y=C+S
C=100+04Y
§=50+025Y

Explain the rules of differentiation with appropriate illustrations. 09
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The total cost function and demand function of a firm are C = 3 %3 — 7x? +111x + 50 and

X=100-P respectively. Then find out (1) total tevenue function in terms of ‘X°, (2) level of
output for maximum profit, {3) maximum profit and (4) price of a commodity ‘X

As Udlett w2 @A 1A 1oL [AB iefsR c% X3 — 7x% +111x 4 50 ¥t X=100-P B. A
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«When MC' > 0 and MC = AC then a value of AC will be the minimum”- Explain with the help 09
of differentiation.
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(i) In a group there are 7 males and some females. The probability to select 2 females randomly 05

: is1/15. Then find out the total numbers of females in the group.
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(iii) Explain the types of set.
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- (A) Discuss the properties of ideal measure of central tendency in detail.
yeacdl GARE 2ued Hiustl opRindl [@ata 2wl

(B) Using the following information find out mean, median and mode.
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Class interval (<2 vidRLEY) i10-20 10-30] 10-40| 10-50{ 10-60| 10-70| 10-80} 10-90
Frequency (g 4 16 | 56 | 97 | 124 { 137 | 146 | 150
OR (Aadl)

Discuss the usage of correlation. Distinguish between correlation and regression.
uedioitioll GUANAl Al 53, Ui A Raucdioltl a2l &g U 53U,
Ten competitors in an elocution competition are ranked by three judges in the following table.
Using the rank correlation coefficient determine which pair of judges has the nearest approach to
judge the competitors,
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. uedoitel GUIdL 531 sau Qelasiel Al udslel Rela sraunl Well ay ot sell u@an

YA B o olssl 53

Judge-1 ([Aaltas -1) 165|103 2 14| 9 |78
Judge-2 (Rdas -2) 30518 4 7110 2] 1 ]6]89
Judge-3 ((Ralas -3) 614109 8 1 2 | 3110517

Discuss the various methods for-construction of index numbers with appropriate illustration,
yasuisell auetell @AY yeufuledl doa Gelegl uldct uAl 53l

Estimate the regression equations from following data. Calculate the coefficient of correlation

between the age of husband and wife.
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Write a detailed note on standard and probable error in regression analysis.

Ratczioiy QeAverd uiBld via deldd &l (@A [Qata «llu cull.
(i) Find out Fisher’s index number and show that this index number fulfills the factor reversal test.

Age of Husband (WAl GxR) | 28 |29 |30 | 21 |22 |23 24 )25 | 26 | 27
Age of Wife (Uelloll Guz)  |27]27|28118]19]19]19]20]21|22
OR (AaUcl)

Borell Yusolls Al wal galdl ¥ 2 yusuis ue-(Auaix udamgt AN B,

(27

"Commodity Price (1) Quantity (¥22)
(clRd) Base Year (Atl2 | Current Year (UG | Base Year (MR | Current Year (RUl&]
o) o) ad) ad)
A 2 6 40 50
B 4 8 50 40
C 6 9 20 30
D 8 6 10 20
E 10 3 10 20
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